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It is evident from this that it is vacant/available on both sides

OVERVIEW

The X773 concludes that we drive nna yon nRMY through the w"x of M9 732 which
is written both by y7w nkn1 and by nn nxn, that just as a yon is Pawa xnv,” it is
also nna Xnwv. The X3 states that the words of the "t are superfluous (71917) so
they can be used for this "1, otherwise we would be able to refute this w"a (and
not derive n»2 yon from yow2 ?DD).3 The M 732 by vV is 7191 for since 7V is
I"wH wpneR, where it says MW 722 so it is 7391 by yw. Similarly nn is 1"w5 wpnx,
so the 7 732 by n» is also 71912, Our MdOIN discusses why the " is required at
all; we can seemingly derive nna yon nXmw through a wp n.

nvoIn asks:
- wab Y97 Naswy 49‘1? NAYY NN YPNINT 119 MY NI 2D Nnb Nnn

It is astounding! Why do we need the @'t of M1 732 (which is written by n»

T to derive NN ¥On NRMW), since N7 is wpnoK to 1''w, and 1'"'w is wWpNOR to YW,
SO just as by yIw a yon is Xnav so too by nn (which is 1w wpn X which in turn is YWY WpnR), a
von is also 8nv -

= DYVIPN I N S195n 1 130 PIY NS NINN Yoa1

For in the entire ;7730 we derive 7297 32 2% except for 2ow7p.

N1B0IN answers:
- MY NPT R XUPINNI NY ST175 2919 951 939 INY Th99 591 91999 W

And one can say; that perforce we must say that neither through the wps7, nor

through the 1'"'wx can we derive all things from each other; there are things which

apply to YW but not to n» and vice versa
- 8\{‘1\’) NNDILY 1NY D NNIMOY 10T 9WIN 233 (35 97 POINT 2V P99 W92 INOSYNTD

"n our texts the X3 reads 1T 1WA 7191 AT MIRD n''w.

% The X2 just derived that a yo7 is YW1 Xnv from a 1"p.

? We can argue that a v is stricter than n», since it is X2 even w7v23, however by a na a nr2 is required.

9,25 (M) XP.

' T ow.

6 17 1 9 literally means something which was learnt from something which was learnt. In our case 1" is learnt

(wpnR) from yw (making it the first 77%), and n» is learnt from 1" making it the second 717 (or 72277 11 71%). The

rule is that we can apply the laws of yW to the 127 11 7% (meaning n») that just as yon is yaw32 &nv (and by 1"w), it

is also Nn1a Rnv.

7 9w>11 (or being made fit) is the rule that food does not become X unless it came in contact with water (or any one
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As we find in the beginning of the second pa2 of 1% noon regarding W=7,
where we require one P05 that w27 is necessary for n» nX»w and another ?02 is
required that w377 is necessary for Y =W -

- "9
And the X3 states there that both 2°P105 are necessarys; if it would say it only by one
of them we would not know by the other. 10

mMdoIN responds to an anticipated question:'’
- xon 9 2239 ON 93 27711 29°9) XY 2991 Y57 139¥nWT NIN NIV NI TIVHNINII

For since we require a @''1x (of 71 722) to derive n»a yon nXMv, we know that
we cannot derive all the rules of n»n X»v yw from each other, we can derive

only regarding this rule here concerning yon -
- 7991 231 ©IDN 2t XaN 131 Pmay (8,10 97 mw) NYN N2 P99 9102

And we also compare 7 to n» in the end of 7wR 7722 P9 where we derive from
the word pw X to include something which is woven from the tail of a horse or

the tail of a cow that it is y7w2 xnvn, and we derive n» from pW that it is X0 by n» as well.
The reason we derive these two things (y9» and 2171) by n» from v -
- “omava NpvY 00 THN Iy

Because there it is the same concept, so by both of them (y7w and n»n) they
should be Rm»w —

MooIn mentions an additional case where we derive a rule both by Y721 ni from one p109:

of the seven liquids) prior to coming in contact with the 7xmuv. This is referred to as P?21% w3n.
¥ The two 2°pI0D are XnL> 27 19Y K1 WK 2R WK 9T 297 (in 72,80 [P2nw] Xp™) and R Knw W1 977 99 2°0 100 0N
23% (in 1% P10D).
® If it would only state by ma nXmw that the food requires a w371, I may think that a yaw which is Xavn even mwva (it
does not require a n°12 like a nn), the food does not require won. If it would only sate by v, we may assume that
nn N (which is 7yawa kxwn, not just 27y nrmw like a yw) does not require 122 W31,
' In any event it is evident that we do not derive that all the laws that apply either by 7w or n» nXmw are applicable
to each other even though there is a wp i1 (and a w"13). Therefore we cannot derive from the wp 1 that just as yan is
W2 R it should also be N NRM™IVA RAv.
"' Why indeed do we not derive 772 w37 through a wp»r since generally we derive 72971 72 T15%?
2 The X3 there (by 722 w>7) realized from our Xin of the Xn>>72 here who requires a "1 for yon (even though
there is the wp>i7) that we cannot derive all things from this wp . See ‘Thinking it over’ # 1.
'3 The 70 writes (22,8 ["2nw] X1p™) regarding YW nXmY that pw IR "3 %5 90 ann 99 wR 931 We derive from
the word "X' to include a cloth made from the 7757 0107 231. The X773 there uses the same w"tx of MW 732 to apply
this rule by n»n nxmw as well.
* We know that a *93 becomes X1t both by a 7w and by a n». This w" only teaches us that since we see that a yo2
and a 237 is considered a *2> by a yw and becomes Rnv, the same should apply by n» as well. It is merely a 9
Xn?n. [However regarding 1°22 w>i1 (which is a new rule [by y2w and nn]) if it would be written by just one of
them we could not derive the other from it, since it is an entirely new rule.] See ‘Thinking it over’ # 2.
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And similarly regarding the handles of utensils and food which we derive that
they are Xnvn (the °25 or the 92X) in 2wy w7 P95 -

INIYUYY DY NP 19 I8 XY

We also do not require two 23?102 one for n» and another for Y@, but rather we
derive n» from 77w (though this same w"T3).

SUMMARY
In the case of YW1 nn the w"t can function only to derive things which are
inherently similar (such as 2111 y91), but not new laws (like 192 TWw27).

THINKING IT OVER

1. It appears from mooin that the Xin of the Xn>72 teaches that we cannot derive all
things (by nm y7w) from a w"r or wp>n."” Why, however, does the Xin of the X012
assume so since generally we do derive (even) a 72277 11 Tab.

2. Why is there this difference that even though (as NM501n states) we cannot derive
nm v from each other for all things (but only where it is 27°1w2 a7 X PIv);'e
nevertheless this applies only to the ¥"11 (where we can derive where it is IR 7°1¥
O7Pawa XnvY, like yon), but not regarding the wp i1 (where we do not derive anything
from it [except to make 77191 Y1 732])?!

15 We derive from the word 03> (which is written [twice] by Y nRmw in v-mo,R° Prnw] Xp) that P3m *Han
can bring nXmY to the 2211 °75 (from elsewhere) even though the 2211 °73 itself did not touch the axmv, only the 7
did, and that the 7> can transmit 78m (if the *2> or %I is R1W) to others even though the 93181 *%3 (which are Xnv)
did not touch the 77w 727; only the 7 did.
' See footnote # 14. We know that a 23 is Xnun. Once we see by yw that the *»371 7 is like the *23 (and the same by
901 7°), we apply it to nn as well (as a XN *¥2°3 [since we have this w"1a]).
17 See footnote # 12.
'8 See footnote # 14.
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